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Dy _ f(x+D0x) - f(x)
Dx Dx

Dy = f(x+Dx)- f(x)=f"(x)Dx+a (Dx)Dx

a(Dx):%- £1(x)

Cx® 0
Dy » f'(x)Dx
X Dx
dy = f'(x)Dx
X
g X =X
g
dx = Dx
dy = f'(x)dx
dy
—=f'(x
y (x)
adx
1 dy=d(c>x)=c>dx c
2 dy =d[au(x) + bv(x)] = adu(x) + bdv(x) ab

3 dy =d[u(x)v(x)] = du(x)v(x) +u(x)dv(x)

file://F:\00000\popular\calculus_basic\3.htm 5/17/2003



Page 8 of 9

L U(X),  du(X)v(x) - u(x)dv(x)
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J1- 53
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y 1452
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